III Language Sanskrit / Jd@wmT d&haq

gyufemT: fema: diemen =

TRBTET: : 80 g ;2 1/2 Hrs
1. SfEEr amHeay
Sfretha wfasas, AT T:
TR 20 16
TRV 40 32
3Ti¥eath: 36 29
LT 04 03
Aed 100 80
2. fawaTger e,
fawa yfasan qST:
LEL! 36 29
T 25 20
TR 35 28
TRAITST: 04 03
e 100 80
3. AW ATHEIH
9 TR wfawan eATET: | WEEl €edn| snfda: ewa:
FEIET: W 15 12 12 15
FNTA:  USAT:
1. Iqdug - dfedr -2
FerqugH - 2
2. GASET - 4 22.5 18 18 20
3. ThdTmd IdXd - 10
TIRT: U9 20 16 8 30
R T 22.5 18 6 35
TS TCHRT: 20 16 4 35
4., FTEQ:
TR qaq: TR RIS A
yfqsray 30% (24) 50% (40)] 20% (16) 100%

1



TATARATAT AEF AR - TARFHEAT

. | 9eFEawq AT
W - A (TR, TR - RETST:)
. | TwamE SR foed - (R-vmame:) 10x1 =10
2. | "FSEd 4x1 =04
3. | O foaa 2x2 =04
4. | selreRar: qread foed 2 x2 = 04
5. | SaTe FEd 2 x2 = 04
6. | WiA-Flqui=a: 1 x3 =03
7. | FuTfeeE SR foea 2x3 =06
8. | sufi T saw 3x3 =09
9. | W qIA 1 X4 = 04

AW - B (AT fawmr:)
10. | EEfEARREITAAT: 12x1 =12
1. a9eH, 2. foegded, 3. TvEdRueH,
4. Torg-fawfe: -==wm, 5. &fa:, 6. wm:,
7. FRR:-TEY:-F9H, 8. AqAUCH

1. | =qeug forea
FaeaH 2x1 =202
Afgary 2x1 =02
an - ¢ (= fawmrn)
12. | FASR: 1 x2 =02
13. IG- 1 x2 =202
14. EEE 1 x4 =04
19. PERCH 1 x4 = 04
20. MTANH 1 x4 =04

80

TAAT: T, Y, <Beh RUM, QAT A, <BehdTcddd] UdsT UedT: faeed: ¢ |
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X Standard

Model Question Paper

lll Language Sanskrit

JARATT - a&haq - (67S)

g 2 l/2 Hrs

% TharRq SR faed |

ar: - A
(M, U=EH - YIHITST:)

Maximum Marks - 80

10x1=10

1.

& ST HTASEHaGI] Thaar ?

). HAEET: AT <F WS ?
3. o TN fosRATe stEda ?
4, GHCE AW F: 7

5. ol H ?

6. U HT STTAfeIRT ?

7. HAMAT: AT TEAT T ?
8. TRUET Ul HT ?

9. TIAM & JeTH ATRIE ?

[N hd o
10. gl ATRTAT=SE YoiAH 7

11.99@a |

#A AT
i. TeA U
ii. sSgw: T
111. gaGHAT: e
1v. ¥ 9reuT:

% f3: amd: S foma |
12, STSRIfCfawa &1 qRvRAT Jad ?

13. TovaeehdueaameTi & & 9T e ?

4x1=4

2x2=4



% TAIERAl: qeqd FAfeh AT ATEeHTyAT a1 faea | 2x2=4
14, § IeEvaedl IREFTERR |

AT LRI H | |
15. fewraa 7 sasda:

oAl | AT |

qifecd TeagaHTd

ATITHISHHE ||
* GERAWNAT AqaTe Fed | 1x2=2
16. Y ZOTOT TSN T QAWIT. T9Y VeWOONT, BRCTLILS.
3 FATEH W FATE Fod | Ix2=2
17. AT Feaged: =i s ST AEafed | 3% SR SURT wafwy |
% THE FA: uETERATelvd fawa | 1x3=3
18. HISRTS:
3% YT gal: SR foea | 3x2=6
19. *“fermeat T amgen Afer 77

6. 915: 7 h: FAGq 7 hH EGq 7
20. ‘TR I A€ UEdS | qrenH

% 916 7 o FAqq 7 hH Adqd 7

% HATCHATIAT ATSTANTET GEFAATTAT a1 IR for@aq | 3x3=9
21. AHIe &P sfaea foed |
22. T T 3t fomar qam 2

23. FEHEean: fawd foraa |

% v RIEq | 1x4=4
24 TR e eeees

---------------------------------------

---------------------------------------
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o

25.

26.

217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

T S e weRw gy ffdeeam foea |

‘S’ TdE YAIdeH 3¢ Wafd |

g - B

(zaTor fawmr:)

A) ST B) = C) smn
‘THFW - TaH ToRgidsd 95 =] WAl |

A) T B) fagm C) g3
9T TR 33 A |

A) T B) wet C) =
‘Ta:’ - o uw fawfe: wata |

A) wst B) @t C) =gt
“ifa’ s s At wafa |

A) fawst B) wive: C) ur:
‘Hered: - I I gHE: afed |

A) Tcges: B) serfivma: O) 5=
‘I’ - 3 U R 3MfEq |

A)Tg B) 72 C) @2

‘ToEeq A |ieAfaesd Ud wafd |
A) 9fd + s@ga B) v@ + s@eq C) 9 + TFaeq
‘T’ - se fowgarees v wafq |

A) Hfir spfr

C) =T Ha FHER:

= 3 FggEEIH Ud Wl |

A) T=1th

B) w=ea

T - I THAATEH 36 |

A) v

B) wsAsw:

‘SrET: s vEtEue uad watd |

A) ferem:

B) =ife:

D) foam

D) siFm

D) T
D) werm

D) emvid:
D) =ehife:

D) @tz

D) wfaq + a&q

D) =™
D) s

D) 1=

12x1=12



37. wqdes foea | 2x1=2

1. ORET 9w 8909 o T I e, |
i, qgmET: U A T8 c: faamE: e W e,
38. Feaue fuear foma | 2x1=2
1. THTERR: STTeAT ITdaT |
ii. = gl =i |

i - C

(= fqum:)

% wgw fafve segrea ™ foea | 1x2=2
39, T 7@ == T3 greww feq |
% yer fafoea woawmt Fen s @ foaeal 1x2=2
40. €rai fomrg afer AROmAR |
s1.vamad o el R ufa v foea | 1x4=4
% & fowm sifvec weed faaa | 1x4=4
42, AR |
% TENR fcar gEE S faea | 1x4=4

43. FEIWRAE &l 9eeqTd: | HETWRA AEEIE((or afed | TehIoReId shikal: qeiamedr: uig: |
ITOATT U1 UTUSAERTST: ST | el UTISATT HIAT SR | RIRATOT STeeh: gaRT: | arTe:
efearTee =ishadt s |
UIAT:

¢. WETRAE &l &: ?

2. HETHRA Hfq uaifor afey ?

3. UeaE fuar & 7

¥, YARTE: HOT SH: 7

als a¥s als
AN



